[image: image1.png]Vou've the manager of a firm that has constant m arginal
cost of §6. Fixed cosc is zero. The market structare is
monapalistically competitive. You're faced with the
faliowing demand curve:
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4. Determine graphically the profit-maximizitg price
and ourput for your firm in the short run. Demon-
strate what profic ot loss you'll be making.

b. Do the same for the long tun.

_ Thanks to a technological innovation, you have
zero marginal cost. Demonstrate the new profit-
maximizing price and output in the short run. Dem-
onstrate geaphically the shart-run profit at that new

Il

prafit-maximizing output.




